=i
A

LLIKA® CEPBEPHbIN CEPUW BY ZPAS
(KPBILLIA XONOAHOr 0 KOPMIOPA)

WNHCTPYKUMS 1O MOHTaXy

COCTAB KOMIIEKTA KPbILLM XONI0AHOIO KOPUAOPA

YnakoBka

=y (1) tnaxxu- 2 um

e
L— 1 (@ O crompobse - 2 um

@ Cmekno - 1T wm

@ l'oka pnaHuebas 6 - & wm

@ Bum M6x10 - & wm

(6) bonm M12x16 - & wm.

©a¢

(D) Waida 12 - & wm

NOPAA0K MOHTAXA

[ns MoHTaxa BaM NoTpebytloTcs raeyHble
Knoum 10 Mm 1 19 MM, a Takke oTBepTKa
KpecToBasi.

War 1

PaCFIaKOBKy n3genua npomn3seante
CcJieCcapHbIM HOXOM. Pa3pe3aHV|e YNakKOBKU
npon3eeaunTe akkypaTtHo, 4TOObI HE noepeanTb
3allNTHOE NOoKpbITUE ,D,eTaJ'IeI7I B yNnakoBKe.

Lar 2

[ns c6opkm kapkaca, pacrnonioxXuTe CTSXKN
(1) n okHa cMOTpOBBIE (2), Tak 4TOObI LLMNWIILKA
Ha OKHaX CMOTPOBbIX COBMAIN C OTBEPCTUSMU
Ha CTshkKax. 3akpenuTe raikamm (4) B MecTax,
MOKa3aHHbIX HA PUCYHKaXx.




K

Lar 3

PacnonoxwnTte ctekno (3) Tak, 4TobbI
O0TBEPCTUS NETESb COBMasiv C OTBEPCTUSMU

Ha CTaXKax. 3apuKkcnpymnTe BuHTamm (5).
KoHCTpykumsi kapkaca No3BONSET pacrnonaratb
CTEKJI10 KaK CrieBa, Tak 1 crpasa.

LWar 4

YcTaHoBUTE COBPAHHYIO KOHCTPYKLMIO

Ha [Ba WwKada, pacnosioXeHHbIX HAaNpPOTMB
Opyr opyra, Tak, 4Tobbl OTBEPCTUS OKOH
CMOTPOBBIX (2) COBMNanu ¢ 0TBEPCTUSIMUN

B MeCTax, Noka3aHHbIX Ha PUCYHKE.
3adukenpyite 6ontamm (6) ¢ wanbamu (7).

LWar 5
MosTopuTe Wwar 1-4 ona nocneayoLwmx
wkadoB 13 Kopuaopa.

lMpumeyatue — Ha JaHHOM PUCYHKE BHYTPEHHWE BEpU LLKadoB
He MoKa3aHbl.



=i
A

BY ZPAS SERIES SERVER RACK CABINET
(COLD AISLE ROOF)

Installation manual

COLD AISLE ROOF BOX CONTENTS

Package

T = mr ey (D Tes-2pcs
e
!;! (2) Inspection windows - 2 pcs
@ Glass - 1pc

@ Flange nut 6 - & pcs

@ M6x 20 screw - & pcs

(&) M12x76 bolt - & pcs

©a¢

@ Plain washer 12 - & pcs

INSTALLATION ORDER
For installation, you need a 10 mm and 19 mm
spanners and a Phillips screwdriver.

Step 1

Unpack the product with a box cutter. Cut
carefully in order not damage the protective
covering of the details.

Step 2

To install the rack, place the ties (1) and
inspection windows (2), in the position, where
the studs on inspection windows consist with
the holes in ties. Fasten with nuts (4) as shown
in figures.




Position the glass (3) in the way where the
hinge holes consist with the tie holes. Fasten
them up with the screws (5).

Rack construction allows positioning the glass
either on the left or on the right.

Step 4

Assemble the installed product in to cabinets,
positioned one next to another in the way
where inspection window holes (2) consist with
the holes shown in the figure. Fasten it up with
bolts (6) and plain washers (7).

Step 5
Repeat step 1-4 to install other aisle cabinets.

M3paHne/Version 1

Note — The inner doors of the cabinets are not shown in this figure.



	Страница 1
	Страница 2
	Страница 3
	Страница 4

